[N
<2
N

107 1 107 1

=107 = :
8 z :
= 3 R S pore
< S :
~6/ o] ) ------------
o103 — ol v il o 1uof— ol v il
I r : I r :
14 r o C :
1_— ------------------------------ T 1_— ------------------------------ [0 p— ------------
C 0.95L '2 .
10 0, -1
TP, (PCA t% beamllnef)

2 3
TPlpoT (PCA t%obeamliné[f)

—=— DQM_mkFit_QCDHighPt_base

—— DQM_mkFit_QCDHighPt_retrain

=
= £ 10
2 e
2 -
S e A A A o lili
5 [s}
10—l vl bl i SRV ST ST S VY ST
I r : I r
o [ . o L
1_— ------------------------- <+ [ U ARCERERLREED 1_— ------------------------------ B
0'915(;‘1 1 10 (:)2 ¥ O'?Lst;‘l 1 16 62 ¥
TPp, (PCA tlo beamling'f) TPp, (PCA t]b beamling'f)

—
-
o
-
D_ -
o
2
o

107}

- vl ] oo
O 1.vo N
= N .
@ r .
o N
1_— ------------------------- -+ B

1

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o




	Contents
	Page 1


